EARAZROREIERT — 2 N—XBISY —F 201558880 (+) 6MEEEM1H

Gl C2+—# 5% —MH% (xwlw | mEmml - |5 ) w8
[A&4£] 1 7% :100,000  ~ 23#&:20,000”  33%&:10,000 M  43#&:7,000H ~ 53 :3,000H
WmEHR MK ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N Gl . - — g (BRE
X2 ITNT # o4 | ERX e o %es T | EEm
NS BAY/EY—F3I— ABRYS
N = . P EREEAR . — - 2 AREEI GKR)
DA T 4 F > 10 S 1'(157)'2 o0 %9 : (?27) S5
R:EAFTUF—F BUIR9T17> KL4H
S ; N 4 5 | HER 1:17.2 6-3 39.4| — 1 470 | =EEE (KR)
NI RTL—=2 56.0 ) (-10) | EBEED
L BATATv— BTRT— Eicbie]
3 . 45 | WUAKEE 1:17.3 3-4 39.8| — 3 399 | =>tE#E (KiR)
1 |‘/’r :l'r Ek 4.0 2 E) +2) {J\Z§$
R:V—IILTLL BHITNAD Eezie]
. 29 | BtAR 1:17.5 6-7 39.4| — 5 464 | =< ARHE] (KIR)
1Y nEX T w0 (1 1/4) (s |BEN
RRAFNTY BHTIA hE— #HE B
S = # g | BERREE 1:17.7 2-2 40.6| — 2 463 | =EHE®E (KR)
67|77V NN=YT— 0 (3/4) Ly |EEE
L:TLeFFE2T BAHIVLT— Er e
711111 738v581% it 5 glz*gﬂﬁ 1:18.8 3-5 4.3 — 4 433 ﬁgﬁiémm
3 _ 7 ) L]
QT ETA VKRR BATAINELY o 2 g %=
® I —F—EBIERL
|2=3F=
230—7F—
da=3r= 6,7,(1,4),5,(2,3)
40—+ — 6,7,2,4,1,5,3
[ N3
H OB 6 10,090M 714K 5-6 2,360 B = 5-6 13,960 3EHE 2-5-6 6,400/
BB 6 3,940 2-6 920/ B H 6-5 63,1504 3EE 6-5-2 190, 440M
5 1,250H 2-5 390

ABICOVWTRDTEEERROODE. TR LIV,




